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Fill the appropriate number in the blanks so that the sum is equal to the 4-digit number
given. We have done the first one for your reference.

1000 +

+70 + 8 = 1578

1000 + 200 +

+ 4 =1224

4 +100 +

+3000 =3114

20+100+0 +

=2120

1+50 +

6+

+0 =1052

+ 300 + 1000 = 1336

90+600+0+

5+30+0+

=1690

= 5035

2000 +

+ 60 + 0 = 2260

2+30+

5+40+100 +

+ 6000 = 6739

=2145

8 +50+100 +

= 3158

0+

0+0+

+700 +

=1739

+200 = 3200

500 +1000 +2+______

AL Mnrné]u nction

=1552

)

) Find The Missing Place Value
To Form A 4-Digit Number




